‘Subtraction 5 — Early Finishers

I. There were 78 sweets in ajar. 47 of
them were sold. How many were left?

2. Sophie had 84 beads. She gave 23
of them to her friend. How many did

she have left? ’

3. There are 65 houses in the estate.
32 of them have cars parked outside.
How many have no cars parked

k. The farmer had 49 sheep. He sold 26
of them. How many did

he have left?| |

9. Mum and Dad planted
Sk daffodil bulbs. 43 daffodils grew in
the spring. How many bulbs did not

flower? [:]

6. There were 38 apples growing on the
tree. 27 of them were picked. How
many were left on the tree?

7. Sedn had 27 T-shirts but he had
outgrown |12 of them. How many still

fitted him? ‘
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